N9741 - Lijadora de cepillo m

.......




N9741 - Lijadora de cepillo

I’H!'l !!!'l

Pl Rl

Posicién

© 00 N o g b W N P

A A A D B B DDA WOWWWWW W W WWN DN DN DN N DNDNDNDNDNDNDDN PR P PP R P P P P PR
N~ o o b~ WON P O O 0 N 0o o0 b~ W N P O © 0o N oo 0o b~ WN P O © 0o N o b~ Ww N e o

Coédigo de
la pieza

911248-8
157777-9
263002-9
211101-1
253744-3
221756-4
961055-9
211236-8
163269-8
254219-5
157776-1
911218-7
273623-9
794384-3
285661-9
211275-8
912122-3
681625-5
211031-6
263014-2
512928-5
241113-0
253024-7
211088-7
263002-9
263002-9
263005-3
911258-5
211019-6
263002-9
911278-9
211019-6
153168-2
934301-3
253196-8
343434-7
961018-5
855929-3
643600-9
181030-1
251323-1
253308-3
343436-3
253980-1
253874-0
157798-1
251919-8

Name

TORNILLO PLANO M5X28*
TAPA CULATA PARA 9741
FIJADOR 4*

RODAMIENTO 6001LLB
ARANDELA PLANA 12*
PINON 53 /9741

GRUPILLA S-15*
RODAMIENTO 6002DDW

EJE PARA 9741

CHAVETA 4*

CULATA PARA 9741
TORNILLO M5X14*

ASA PARA 9741

Rodillo de nylon

TAPA RODAMIENTO 9741
RODAMIENTO 6003DDW (301045)
TORNILLO M4X14*
ARANDELA AISLANTE HK1810
RODAMIENTO PARA 608LLB
FIJADOR 4* GA7000/HM1100
INDUCIDO 9741

VENTILADOR 68 /9741
ARANDELA PLANA 10*
RODAM. BOLAS 6000DDW PC5001C
FIJADOR 4*

FIJADOR 4*

FIJADOR 6*

TORNILLO PLANO M5X35*
RODAMIENTO 626

FIJADOR 4*

TORNILLO M5X55*
RODAMIENTO 626

PINON 64 /9741

PALOMILLA M6*

ARANDELA PLANA 6*

GUIA PARA 9741

GRUPILLA E-5*

NAME PLATE 9741

TAPON DE ESCOBILLAS 6-10*
ESCOBILLAS CB-100
TORNILLO M4* 9741
ARANDELA FINA 6*

TAPA PARA 9741

ARANDELA PRESION 14*
ARANDELA PLANA 4*
CARCASA PARA 9741
TORNILLO CIRCULAR M6X20*




N9741 - Lijadora de cepillo

'H!'l !!!'l

Pl Rl

48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68

162134-8
256655-1
343435-5
322071-0
410957-1
911285-2
527414-3
262515-7
262515-7
911153-9
410954-7
162133-0
911133-5
687001-1
423096-8
682502-4
666226-0
651332-4
421323-7
645200-1
941152-7

RODILLO PARA 9741

BULON 7* 9741

PLACA PARA 9741

ARBOL PARA 9741

DEFLECTOR PARA 9741
TORNILLO M5X60*(VEA 313066)***
STATOR 9741

SUPLEMENTO 6 FOR 9741*
SUPLEMENTO 6 FOR 9741*
TORNILLO M4X28*

TAPA ASA PARA 9741
RODILLO PARA 9741

TORNILLO M4X18*

PRESILLA***

ESPONJA 9741

SALIDA DE CABLE 8-85 (320800)
POWER SUPPLY CORD 1.5-2-5.0
INTERRUPTOR PARA 9741
AISLANTE INTERRUPTOR/9741
CONDENSADOR PARA 420S ***
ARANDELA PLANA 6*




